HYDRAULIC CYLINDER FOR 7 MPa (DOUBLE ACTING DOUBLE ROD TYPE) (HC1-W) @40 to ¢100

B Specifications B Description of the model designation
Max. operating pressure  (MPa) 7 HC1-WD-40x100-LB-(A)
Min. working pressure (MPa) 0.45 or less _L_Piping port position
No code: Top (standard) A: Right
Operating speed range (mm/s) 8 to 300 B: Bottom C: Left
Operating temperature range  (C?) -15to 80 Mounting type

LB: Foot mount type

FA: Flange mount type (rod side)
TA: Rod trunnion type
EPermissible stroke error TC: Center trunnion type

Stroke
Stroke | 100 or less | 100 to 250 | 250 to 630 | 630 to 1,000 | 1,000 to 1,600 Cylinder bore

Permissible +0.8 +1.0 +1.25 +1.4 +1.6 With/without cushion
error 0 0 0 0 0 A: Without cushion on both sides
B: With cushion at the rod side

C: With cushion at the head side
D: With cushion on both sides

B Outside dimensions Double-rod, double action type

LB (Foot mount type)

L H k+Stroke
w W+-Stroke
N Q/ /;rbleedscrewz H| L V_.N
W) T 2—P T e
Cushion adjusting
— G 1./ screwY —— G
) ol 'cI sal ot ! all kgl I‘o
{@§%@ < § wﬂﬁ } S E I v&
\ o
T — o C
D + JI L F ‘ M S+Stroke M F | |J
B 4—o¢U K E+Stroke K+Stroke
X+ (Strokex?2)
(Unit: mm)
ModelsymbOIABCDEFGHJKLMNEPQRd(h7)STUVkWXYZ
HC1-W*-40x*-LB | 80 60(50| 44|196|38 |M16%x1.5/10|10(33|12|33|25| 3 |Rc! 24|20 |20 |54|13| 9|22| 2 | 71|262|M 8| M6
HC1-W*-50x*-LB 975| 75|60| 55|226|44 |[M20x1.5|12|11|38|14(38|30| 3 |Rc% |26(25 |24 |62|14|11|24| 2 | 82|302|M 8| M6 J
HC1-W*-63x*-LB [ 115 90 (70| 65|268|51 |M24x2 |14|13|40|14|45|35| 4 |Rc!»|28|31.5/30 |76|16(13|25| 3 | 91|348|M 8| M6
HC1-W*-80x*-LB |142 |114|85| 84296 |56 |M30%x2 |14|15|43|16/48|40| 4 |Rc% (29|40 |38 |88|20(15|26| 3 | 99 |382|M12|M6 T
HC1-W*-100x*-LB | 160 |130|95|100|324 |66 |M42x3 |16|17|53|17|50(55| 6 |Rc% |31 (50 |48 |92|20|17|28| 3 |119|430|M12 | M6 _<
5
FA (Rod side flange mount type) >
CcC
2—P —
Air bleed screw Z T T O
Cushion adjusti
1 D
| o P i % | mr e R E
U S | | | = =138 =
L. ] k+ Ji )
N o JFl M S+Stroke M | L |Stoke| V] N m
E | k+Stroke W-+Stroke Y]
J/ X+ (Strokex2) w
J
(Unit: mm)
ModelsymbOIABCDEFGHJKLMNePQRd(h7)STUVkWXYZ
HC1-W*-40x*-FA | 95| 60| 77| 44| 61|10 |M16X1.5|40|12(130|22|33|25| 3 |Rc’: |24|20 |20 |54|13| 9|22|2 | 71|262|M 8| M6
HC1-W*-50x*-FA |117| 75| 97| 55| 70|12 |M20x1.5|50|14|150|26|38|30| 3 |Rc% |26|25 |24 |62|14|11|24|2 | 82|302|M 8| M6
HC1-W*-63x*-FA |142| 90|116| 65| 77|14|M24x2 |60|14|180|28|45|35| 4 |Rc'. |28|31.5/30|76|16|13|25| 3 | 91|348|M 8| M6
HC1-W*-80x*-FA |175|114|145| 84| 83|16|M30%x2 |70|14|200|30|48|40| 4 |Rc% |29|40 |38 (88|20|15|26| 3 | 99|382|Mi12|M6
HC1-W*-100x*-FA | 195|130 | 165| 100|101 | 18 |M42x3 |80 |15|210|33|50 (55| 6 |Rc% |31|50 |48 (9220|1728 | 3 |119|430|M12 | M6




BMOutside dimensions

TA (Rod trunnion type) 2—p . . )
2-air bleed screw Z 2-cushion adjusting screw Y head side
J T T
e G G
‘L L‘ w il
b \ 53}7 'Sl V H:%\iﬁ @}4* e 7
L () T g 5 =1
RN JJ S javg o T S
E f Bl s
© T 9 —
e R B
H B H N U| M S+Stroke M | L V| N
A X+ (Strokex2) |
\a \ k+Stroke (Unit: mm)
Vode] Symbol | » /B lc|D|E|F| G [H|J|L|M|N|e|P |a|R |dn|s|T|u|lVv|k|x]|Y]|z
HC1-W*-40x*-TA 109| 69| 60| 6720 |2 |[M16X1.5]|20(60(22|33|25|3|Rcl/s|24|20 |20@| 54 |13 |22 | 22| 2 [262|M 8|M6
HC1-W*-50X*-TA 135| 85| 75| 81|25 |25|M20x1.5(25(68|26|38|30|3|Rc% [26(25 (24 | 62|14 |28 |24 | 2 |302|M 8| M6
HC1-W*-63X*-TA 160| 98| 90| 9431525 |M24x2 |31 |74|28|45|35|4|Rc!|28|315(30 | 76|16 |34 | 25| 3 [348|M 8| M6
HC1-W*-80x*-TA 180118114116 |31.5|25|M30x2 [31(82|30|48|40|4|Rc% (2940 (38 |88 |20 |34 |26| 3 |382|Mi2|M6
HC1-W*-100x*-TA | 225|145[130 141 (40 |3 |M42x3 |40|97|33|50|55|6|Rc% 31|50 |48 |92 |20 | 44|28 | 3 |430|Mi2|M6
TC (Center trunnion type) J+Stroke/2 _ 2-cushion adjusting screw Y
2—P K+Stroke/2 K+Stroke/2
2-air bleed screw Z T U T
= G <
f@u ::@é_‘ g T T L T‘ g
L an) Tola =) oW =
L %y S < BB S =
KOS o
T c 2l L
H B H N|Q|L| M M | L V| N
A X+ (Strokex2) |
K+Stroke (Unit: mm)
Vodo Symbol | A\ 1Bl c|D|E|F| G |H|J|K|L|M|N[e|P |aQ|R S| T|Uu|VI kK|l x| Y]z
HC1-W*-40x*-TC 109| 69| 60| 67|20 |2 |[M16x15|20|106|12(22|33|25|3|Rcl [24|20 |20 |54(13|30(22|2|262|M 8| M6
J HC1-W*-50x*-TC 135| 85| 75| 81|25 |25|M20x15|25|121|12(26|38|30|3|Rc% [26|25 |24 |62|14(38|24|2|302|M 8| M6
HC1-W*-63x*-TC 160 | 98| 90| 94 |315|25|[M24x2 |31|139|16(28|45|35|4 |Rcl, |28|31.5/30 |76 |16|44|25|3|348|M 8| M6
T HC1-W*-80x*-TC 180|118 |114|116|31.5|25|M30x2 |31 |151|20(30|48|40 |4 |Rc% [29|40 |38 |88(20|48|26|3|382|M12|M6
-< HC1-W*-100X*-TC |225|145{130|141 |40 |3 |M42x3 |40(160|17|33|50|55|6|Rc% |31 |50 |48 (92|20|58|28|3|430|Mi12|M6
)
X
> Knuckle bracket - HC-A1-*
Ig Knuckle bracket —T T Diameter (Unit: mm)
— T r o Symbol
@) ) (© . "L | Model s
¢K counter — A | B|C|DIE|F|G|H]|J| KIR|Jl -x
O bore depth 2 ™ Q2
< <|m | 2 [Hc-A1-40 | 44| 60|19] 9|12|22|37| 57|40|19]20|16| 8x25
— N R oU | [Hc-a1-50 | 55| 75|27|11|14]24 41| 6350|23|22| 18| 10%30
D O
% 1 L — HC-A1-63 | 65| 90(30|13|16(27|46| 71|60|28|25|20|12x35
M 9D drill thry, e FE HC-A1-80 | 84|114]36|15/20|35/60| 90|70|31|30]25|14x35
m B H HC-A1-100|100|130(48|17|24(50|80|120|80|34|40|35|16x40
w
Knuckle - HC-B2-* (Unit: mm)
Knuckle —T L Diameter Symbol
E Model d L
d 3| AlB|c|D|S| E FIH|K|&| M |¢
an SR A fa| |HC-B2-40 | 75| 60|16 |28 |13 | M16x15 |28 | 22| 5|20 | 162 4
U \ AN 9
N / e HC-B2-50 80| 63|17 32|16 | M20X15|33 |24 | 524|203 | 4
H =1 HC-B2-63 | 85| 67|20 |38| 16| M24x2 |38|27| 8|30 |244] 5
Kl BF 10 HC-B2-80 | 105 | 85|25 | 46|22 | M30x2 |43 |32 |10|38|305| 5
A HC-B2-100| 140 | 113 | 32 | 56 | 30 | M42X3 60 | 41 | 14 | 48 | 43 7

J—10



BMOutside dimensions

Bracket pin - HC-C1-*

= Diameter
Bracket pin

2-D drill thru
S
,-H/ (Unit: mm)
Nd ® % Symbol
Model
(@) ©
B E A B | @ | D E
A HC-C1-40 78 70 | 16 25 | 4

HC-C1-50 95| 86| 18 | 25 | 45
HC-C1-63 112 1102 | 20 | 25 | 5
HC-C1-80 140 | 128 | 25 | 3 6
HC-C1-100 | 160 | 148 | 35 | 4 6

Locknut - HC-N1-*

T Diameter
Locknut

7 /N o (Unit: mm)
- K J Vodel Symbol
) A B lappion) D
\L‘ B HC-N1-40 M16x1.5 | 24 |27.7| 10
HC-N1-50 M20x1.5 | 30 | 346 | 12
HC-N1-63 M24x2 36 |416| 14
HC-N1-80 M30x2 46 | 53.1| 18
HC-N1-100 | M42x3 65 | 75 25

i

SHAANIAD OI'NNYHAAH

J—11



